*II-3b ___C ___NC

Chemistry 252

Quiz 3

Name: ______________________________

*A. (2.0 pts.) Give the mechanism of the following reaction.


CH3=CHCH=CH3 + HBr ( CH3CHBrCH=CH3 + CH3CH=CHCH2Br

B. (6.0 pts.) Predict the major organic product(s) expected for each of the following reactions.


1. CH3CH=CHCH=CHCH3 + HCl 
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4. CH2=CHCH2CH=CH2 + HBr 
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6. 
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C. (2.0 pts.) Outline a synthesis for each of the following compounds from the given reagent and any other needed reagents.
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Bonus (1.0 pts.) On standing, 1,3-cyclopentadiene is transformed into a new compound 

called dicyclopentadiene having the molecular formula C10H12. Hydrogenation of dicyclopentadiene gives the compound shown. Suggest a structure for dicyclopentadiene.
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